
Find the parallel and perpendicular slope to the following slopes.

𝑚 = 2 𝑚 = −3

𝑚 =
2

3
⎯⎯ 𝑚 = 0 𝑚 = 𝑢𝑛𝑑𝑒𝑓𝑖𝑛𝑒𝑑

𝑚 =
−1

2
⎯⎯⎯

Find the slope of the line, and the slope of the line parallel and perpendicular to it.

𝑦 =
3

4
⎯⎯𝑥 + 7

2𝑥 + 3𝑦 = 5

𝑦 = 5
𝑥 + 2 = 0

A line passes through (1,7) and (−3, −1).  What is the slope of a line parallel and perpendicular to this line.

            𝑃𝑎𝑟𝑎𝑙𝑙𝑒𝑙:  𝑚 = 2

𝑃𝑒𝑟𝑝𝑒𝑛𝑑𝑖𝑐𝑢𝑙𝑎𝑟:  𝑚 = −
1

2
⎯⎯

𝑦 − 2 = 3(𝑥 − 4)

𝑦 + 1 = −
1

2
⎯⎯(𝑥 + 2)
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Find the value of "𝒑" if the lines are parallel, and if the lines are perpendicular.

𝑚 =
𝑝

5
⎯⎯, 𝑚 = 2 Parallel Perpendicular

𝑚 =
8

𝑝
⎯⎯, 𝑚 =

−1

2
⎯⎯⎯ Parallel Perpendicular

Are the following parallel, perpendicular, or neither?

𝑦 = −2𝑥 + 1
𝑦 = 2𝑥 + 4

𝑦 = 3𝑥 + 5

𝑦 =
−1

3
⎯⎯⎯𝑥 − 2

𝑦 = 𝑥 + 9
𝑦 = 𝑥 + 2

Find the equation parallel to the following line, passing through the following point.

𝑦 = 2𝑥 + 1, (3,5)

Find the equation perpendicular to the following line, passing through the following point.

𝑦 = 3𝑥 + 2, (6, −3)
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